Choose the correct option:

_ It's a jacket

i They are a jacket

It a jacket

! Itis atop red
Itis a red top

1 They are a red top

Itis a leggings

They are pink leggings

They are leggings pink

 leggings
leggings
Itis ared cap
Itis a cap red

They are a cap red

cap
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It's a jeans
they are jeans

they is jeans.

B

It is a yellow jumper

It is a jumper yellow

A

They are a jumper ;
jumper

It is a boots

They are boots

—
They boots. ___gweme £

They are a dress

It are a dress

It is a dress




